(2) PULSE ROLLER

SENERGY

Bracket

Standard accessory

(Cable side)

PR-D-30H-PU-N

(Point-up) Base i z

3 o 17 Upset bolt (Hexagon, M5x14;
- Base plate
Hexagon nut (M5
2x95.3

34 «@ E

46 3.2

* Note
Tightening torque (M6) : 8 - 10 N-m
Tightening torque (M5) : 2.3 -3.5N-m
PR-D-30H-PU-N-ST

(Point-up) o
22
> 1 Hoxagon nuts 132
<—>‘ with flange ]
@)
Y iIER
% 8 17 2x95.3
= H Upset bolt (Hexagon, M5x14)
{ H Hexagon nuts (M5)
36
16 32 é
H#= 8
* Note
Tightening torque (M6) : 8 - 10 N-m
Tightening torque (M5) : 2.3 - 3.5 N-m
Optional accessory
(Non-Cable side)
<E> \'1«1
[}
MR-DC-30P . i
(P0|nt'u p) 8| e P Upset bolt (Hexagon, M5x14]
o @ i é
" N_2x¢5.3 M @ E
45 3.2
* Note

Tightening torque (M5) : 2.3 - 3.5 N-m

* Flat-up option is available too. For more details, please contact us.




